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To finish up the duality proof, must be

more careful about distinguishing original

variables of the Standard form) LP

and slack variables.

Equational form will be written as

T

max CX

Siti Ax + w = b

X,
30

We finished the simplex algorithm in one

of 3 states.

(a) infeasible

(b) feasible but unbounded

(Ex may
be arbinarily large

for i satisfying Axb, X30)

(c) simplex terminates because objfunx
has been rewritten in an

equivalent form with only
non-positive refficients on

The variables
,



That means :

x= k - nx -3
valid for all X/w satisfying
Ax + w = b.

750 , 360

(c+-jx +E = k when Aarw =b

If Axtw' = b = Anti then

(c + -[x + 3 w = x = (+y)x +5w

= If A(x=x) + (w + w) = 0

then (ctyl (=x)+ST. 0Y

# 57 (APA][ = 0
then

[Ci/s] (*) = 0

=> [(c+/gi] is in the rowspace

of [A)1]



=> g) in blom space of
= (3) = [E]3
=>
A =

c +y
= (A = (ay))

=>

A3&C and 340

Recall dual(Pi

min bty
Si. Ags a

y30

Ray Axtw = b= (c +y[x +3 = k

30 Axtw = b then

3"Ax +5 = 3T6



=> (c+z)x + 35m = 3 b = b53

=> k = 653.
.

Concursion : Simplex algorithm

finds satisfying PRIMAL

y
= 5 satisfying DUAT

St PRIMAL OB5(x)
= QUAL vBJ(y)
: both are opt for

their respective LP's .



Kee-Minty cube : for 08/1
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